
1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 14:5:12 (B) 12:5:14 (C)5:12:14 (D)5:14:12 (E) None of these

Q.HW:-Started a business with an investment of P, Q and M in the ratio of 1: 2: 4. After 6 
months, P invested half the amount before, Q invested the same amount as before while M took 
a quarter of his investment. Find the ratio of their profit at the end of the year P, Q औरM के 1: 
2: 4 के अनुपात में ननवेश के साथ एकव्यवसाय शुरू नकया| 6 माह के बाद, P ने पहले सेआधीअनधक
राशी ननवेशकी, Q ने नितनी रकम पहले ननवेशकी उतनी ही अनधक ननवेशकी िबनकM के अपने
ननवेशका एकचौथाई ननकाल नलया| वर्ष के अंत में उनके लाभका अनुपात ज्ञातकीनिये|
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(A)20000 (B)4000 (C)2000 (D)12000 (E)None of these

Q.9:- Ramesh started a business with 5200 and after 4 month Rakesh joined him with Rs. 
3900. At the end of the year out of the total profit Rakesh received total Rs 2000 which is 
25% of the profit as commission for managing the business. What amount did they earn as 
profit? रमेश ने 5200 के साथ एककारोबार शुरू नकयाऔर 4 महीने के बाद राकेश उनके साथ
रु। 3900. कुल लाभ से वर्ष के अंत में राकेशको कुल 2000 रुपये नमले, निसमें व्यापार के प्रबंधन
के नलए कुल लाभका 25% कमीशनभी शानमलथा। वे नकतना रुपये का लाभअनिषत करते है ?
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(A)1080000 (B)1400000 (C)135000 (D)1450000 (E)1350000

Q.10:- A, B and C start a business and invest their share in the ratio of 3:7:6 after a certain 
time they distribute their profit after deducting their TDS which is 20% of the individual 
profit respectively. If the difference between share of A and B is Rs. 270000, Find the total 
profit? A,B औरC ने एकव्यापरक्रमशः 3 : 7 : 6 के अनुपात में ननवेश के साथव्यापारआरंभ
नकया। एक नननितअवनध के पियात टीडीएस (िोव्यक्तिगतलाभका 20% है ) काटकरलाभ
को बााँटा िाता है। यनदA और B के नहसे्स के बीचअन्तर 270000 रू. है तो कुल लाभज्ञात
कीनिये।
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(A)24000 (B)16000 (C)12000 (D)18000 (E)27500

Q.11:- A and B started a business. B's investment was Rs.4000 more than that of A. At the 
end of 3 months from the start of the business, B left and C joined with an investment 
which was Rs.6000 more than that of A. If the respective ratio between total annual profit 
and A's share in profit was 11: 5, what was the investment made by A? A औरB ने एकव्यवसाय
शुरू नकया। B का ननवेशA कीअपेक्षा 4000 रुपये अनधकथा।कारोबारकी शुरुआत से 3 महीने के अंत में, B चला
िाता हैऔरC एक ननवेश के साथशानमल हुआिोA के मुकाबले 6000 रुपये अनधकथा। यनद कुल वानर्षकलाभऔर
लाभमें A के नहसे्स के बीच संबंनधतअनुपात 11: 5 था, A द्वारा नकया गया ननवेशक्या था?
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(A)4200 (B)3000 (C)3200 (D) 4000 (E) None of these

Q.12:- A and B started a business in partnership by investing Rs 10000 and Rs 8000 
respectively. Condition of partnership is that B got Rs 150  per month for management of 
the business. Remaining profit has to be distributed in the ratio of their investments . Find 
the profit share of B , if the annual profit is Rs 7200. A औरB ने क्रमशः 10000 और 8000 रुपये का
ननवेशकरके साझेदारी में एकव्यवसाय शुरू नकया। साझेदारीकी शतष यह है नकव्यवसाय के प्रबंधन के नलए B को
150 रुपये प्रनत माह नमलते हैं। शेर् लाभको उनके ननवेश के अनुपात में नवतररत नकया िाना है।B कालाभ नहस्सा
ज्ञातकरें , यनद वानर्षकलाभ 7200 रु है !
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(A)7350 (B) 7530 (C)7550 (D)7500 (E) None of these

Q.13:- Anil and Ruhi started a business by investing Rs.2000 and Rs.2800 respectively. After 
8 months, Anil added Rs.600 and Ruhi added Rs.400. At the same time Teena joined them 
with Rs.4200. Find the share of Teena if they get a profit of Rs.34, 300 after a year.
अननलऔररुही ने क्रमशः 2000 रुपयेऔर 2800 रुपये का ननवेशकरके एकव्यवसाय शुरू नकया। 8 महीने के बाद, 
अननल ने 600 रुपये िोडेऔररुही ने 400 रुपये िोडे। उसी समयटीना उनके साथ 4200 रुपये के साथशानमलहो
गयी । टीना के नहसे्सको ज्ञातकीनिये यनद उन्हें सालाना 34,300 रुपये का लाभ नमलता है।
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(A) 6 (B)7 (C)5 (D)4 (E) None of these

Q.14:- Satish, Bhavya and Abhishek entered into a partnership with Rs 16000, Rs 20000 and Rs 24000 
respectively. Abhishek joined them after  x  months and Bhavya left  x month before the end of year. If they 
share profit at the end of the year. If they share profit in the ratio 48 : 35 : 30 . Find the value of  x ?
सतीश, भाव्याऔरअनभरे्क ने क्रमशः 16000 रुपये, 20000 रुपयेऔर 24000 रुपये कीसाझेदारीकी। अनभरे्क x 
महीने के बाद उनके साथ िुड गएऔरभाव्या ने सालखत्महोने से x महीने पहले छोड नदया। यनद वे वर्ष के अंत में
लाभसाझाकरते हैं और वे 48: 35: 30 के अनुपात में लाभसाझाकरते हैं । x कामान ज्ञातकरें ?

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)400 (B)800 (C) 450 (D)600 (E)None of these

Q.15:- A and B rented a room dividing the rent in the ratio of 4 : 5. C joined them after six 
months giving the rent equal to that of A. What will be the part of rent of C in the total rent 
of Rs 2200 at the end of 1 year? A और B ने नकराएको 4 : 5 के अनुपात में नवभानितकरते हुए
एककमरा नकराए पर नलया।C उनके साथछह महीने के बादA के बराबर नकराए देकर
सक्तिनलत होता है। 1 साल के अंत में 2200 रुपये के कुल नकराए में C के नकराएका नहस्साक्या
होगा?
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